¥£60[a NHKMPEELTBE7A R HRYTr—KE (IMNMEEDER)
FIELE/NEETARRYT—RFERE BLBR T RS

A H B M = 15 B FI4%IL
1 "B 1B (%) 10:00 A EBEHBAIL—avX 1 - 8 HuERF Rbkvr—osgm |OFETAIvr-o%0
2 1A 1B (1) 11:30 A EET7ARKyr—LERA 1 - 8 V o r t e x K T | BB em
3 1A 128 (B) 10:00 ALY BMAT7ARRYT—4937 2 - 20 #KkEEFARbvr—»0am | EenL—X
4 1A 128 (&) 11:30 A BEREIL—AYX 2 - 5 Vorte x Kk B | B0t ea
5 1A 158 (K 17:10 ALY Vortex X112 - 0 BBFIRRIT—93T |, okaeritr s
6 1A 158 K 18:40 Ay BREMETARAKvr—0E0 3 - 2 BHRRTARKT—SER g s
7 1A 188 (1) 10:00 Ay EBBEIL—A2R 12 - 0 BETARRIT—DER |opanmtr oty ow
8 1A 188 (1) 11:30 Ay BABRTA2Avr—o8E 8§ - 0 BBTFARKYT—H3T | e
9 1A 198 (A) 10:00 Ay EETARKYr—LER § - 2 BBTARKyL—HFT |CREEEIL X em
10 1A 198 (A) 11:30 AL BEEREIL—AVX 2 - 6 #KkBBETARAvr—0EER |, aeziiir—em
11 1A 238 (K) 10:00 A EREETI2Avr—o&88 1§ - 8 BETFARRYT—LEE o wnmac amrssm
12 1A 288 (K 11:30 Ay Vortex XK Z 4 - 3 BURETARKyr—ogE |OIEHET iy o
13 1A 258 (1) 8:00 Ay EETARGBYT—SER Q - ] BURRTARAYT—SER  |giag koo
14 1A 258 (1) 9:30 ALY EBBEIL—12X 2 - 1 BBEFARKyT—935T | e
15 1A 258 (1) 11:00 Ay AKMETAREvr—b&E ] - 5 V o r t e x K T |OLEERIL X,
azg SEIK S = L HRIEIR " /8 5
JEBREE | rarbor— | 7azdur— Vortex k22 FARKr— | FARKOT— | B | & ”E i § % E
DER DER 557 DER = | & oL
° o ° o} °
NG 0o - 2 1 - 0 1 - 2 0o - 0o - 3 2 3 6
! o 19 20 -1 4
FTN—AvX 2 2 - 2 6|12 5 - 0 2 1 - 0 5|2 2 -0 1|1 0 - 2 8
0o - 2 6 - 0 0o - 3 0o - 0 1 - 3
o} o o e} e}
BRI 2 - 0 2 - 0 3 - 3 4 - 0 0 - 0
FAR Ry — 5 0 15 49 14 | 35 1
HER 6 2 - 2 2 138 - 1 71 - 2 5[20 7 - 23 1 - 0 2
2 - 0 3 - 2 3 - 0 9 - 2 - 2
° ° ° o °
- 0 - 1 0 - 2 0o - 3 1 - 0 - 4
FAR Ry — 1 4 3 7 42 | -35 5
WM 0 0o - 5 123 1 - 8 13 10 - 2 8|3 2 - 0 2|0 0 - 0 7
0 - 6 2 - 3 1 - 3 0o - 0o - 3
o} ° o} o} o}
2 - 1 3 - 3 3 - 0 4 - 0 2 - 1
VortexK %2 4 1 12 34 13 21 2
5 0 - 1 2|5 2 - 1 718 2 -0 12 4 - 0 O(4 1 - 0 3
3 - 0 0o - 3 3 - 1 4 - 0 1 - 2
° ° ° ° °
B3] 1 -0 0 - 4 1 -1 0 - 4 0o - 2
FAR Ry — 0 5 0 5 46 | -41 6
9357 0 - 2 22 1 - 7 202 0 - 2 0 0 - 4 12 00 - 1 8
0o - 0 1 - 9 1 - 1 0o - 4 0 - 5
o} ° o} ° o}
B AIHER 3 -0 0 - 0 4 - 0 1 - 2 2 -0
FAR Ry — 3 2 9 28 8 20 3
WDEM 8 2 - 0 1|2 0o - 1 3|7 0 - 0 3 0 - 1 4|18 1 - 0 O
3 - 1 2 - 2 3 - 0 2 - 1 5 - 0




